2RXS J190556.9+661406

gamm*meka

930523 0306

LA LLLLIL I B L1 S 1111 M O | Y
|
— 4 I
- i g
u T N
N ‘\ ]
e bt borr e e 1 o
7 b ‘v ?
(@] o o o
L | L | L o | L |
(A93 s zwd)/suojoyd
LLLLILIL I S L1 |11 L B L1 LA A
|
— } I
— "] ]
u T N
- ‘ —
IR (TR B (1T T NN N A [T A A
< v Y v
o o o o
] —] ] ]

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

— — wn
° 3 3
=] (= =
@ © ™
S
~— Te) fag
| | |
+ + +
N M O = v
T TeY
=1 =] j£3] =1 &=
[ n o - >~
w8 S v oW
— — — © <t
Il
[ Il
=
© — Il
S ] >
g x ' & E
a 2 = — 9
n o Z2 = Z
TTTTTIT T TITT[TIIT[ITTTT
—t

=SRANRERIRRET]

%
T
4’,7
J[
-

QN — o — A

s[enpisay

1.00

0.10

X2req = 0.795

Energy/keV



